F2ERRT—ILERE

BFa /R
NE {3z | EC 2 | B @D |[6+5] 6 @ |6+5| 6 | &5t | 6+5| 6
1|EIBAE | KBRAT 178 26 10 177 24| 13 355| 50| 23
2/MIERE [BIRT 175 21| 12 169 17[ 10 344| 38| 22
3|wFH mARRF 161 18] 5 178 23| 13 339 41| 18
417FKIER | RBRAF 160 16| 7 166 20 8 326] 36| 15
5| KB [HKRE 173| 21 8 149 11 4 322 32| 12
6|IMFER | =EH 155 14| 7 154| 15 5 309 29| 12
TMMBEE(C | HERF 156 17| 6 148 12| 3 304 29 9
Rig|/INEEE | KBRAT of of o 0 of o0 0 0 0
BFUHh—T
NE {3z | EC 2 | B @D |[6+5] 6 @ |6+5| 6 | &5t | 6+5| 6
1|#ARIT  |REA 162| 18] 9 167| 21 8 329| 39| 17
212 RHRED [IREKE 158 19 4 149 10| 4 307 29 8
3| K& =E¥HE 137 11 4 156| 15| 6 293| 26| 10
AMBE—  |KERAF 139 11| 4 152 14| 6 291 25/ 10
58Il B KRR AF 135 5| 3 151 13| 7 286 18| 10
6|IEHEZ |R#KE 138 12| 4 146 13| 4 284 25 8
T(MEILEE | KRERAF 136 8 1 147 13| 5 283 21 6
8|FELREE |[IREAT 144 13 2 133 5| 3 277 18 5
9[FHEE |REEEAE 134 8] 1 142 9 3 276| 17 4
10/BKEE |REATF 141 11 3 133 71 3 274 18 6
NMEAFAN |[R#BKFE 128/ 9| 4 145 10| 5 273 19 9
2|RERh |ZER 125 10| 2 130, 8 3 255 18 5
13| AR FU K [ KIRAT 130/ 6/ O 124 6| 2 254 12 2
14|0FHE  [REBATF 12| 4] 1 141 11 0 253 15 1
15|lUpfEsE  [=ER 1211 5] 3 122 7| 1 243| 12 4
16 ILAA |RKE™ 14 7| 1 118 8 0 232| 15 1
17| LHFImE [ KIRAT 101 6| 2 1l 5 2 212 11 4
18| &FXA  |[WFXE 78] 2| 2 102 7| 3 180 9 5
19 E% ALK E 101 6 1 76| 0 O 177 6 1
20(#1R F P XE 75| 3| 1 87 4/ o0 162 7 1
21\F%E #; P KE 85 3| 2 76| 3 0 161 6 2
22|EMR— | KBRAT 85| 5| 1 o0 of o 85 5 1
23ISR |fPEXE 26 2| 1 47 3| 1 73 5 2
Rig|MTA & ALK E of o o0 o0 o O 0 0 0




ZFa IR

NE {3z | EC £ Bt B @D |[6+5] 6 @ |6+5| 6 | AFt | 6+5
1|FEXF | KBRAF 187| 31| 13 177 27 7 364| 58| 20
152V F |[EER 177| 22| 11 171 24 7 348| 46| 18
/MR F (HFAKR 166 19 5 176 23| 12 342 42| 17
4|HIRIEF | KREIRAF 165 19| 7 164 19| 5 329| 38| 12
51 EFF | KBRAF 157 17| 3 170 20 7 327] 371 10
6|FM=T |FRHEAF 156| 16/ 5 166 19| 8 322| 35| 13
7| HRER | KBRAF 156 15[ 7 157 17 6 313 32| 13
8| EEAXEL |IRANATF 149 12 3 164 17 7 313 29| 10
o|/NE{EHF | KBRAT 150 12 3 159 17| 5 309 29 8

10| E+IIIEF [FRERF 146 11 1 150 11 4 296| 22 5
zZF)H—7

NEf | EC £ |fr B @D |[6+5] 6 @ |6+5| 6 | A&t | 6+5
1|ATEFL A |TRERRF 1200 5/ 0O 1200 7| 4 249 12
2MNEF |[FmEEEXE 58| 1 1 109 5| 3 167 6




